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NEW QUESTION 1
Which type of VPN requires a full mesh of virtual circuits to provide optimal site-to-site connectivity?

A. MPLS Layer 3 VPNs
B. Layer 2 overlay VPNs
C. GET VPNs
D. peer-to-peer VPNs

Answer: B

Explanation: 

http://etutorials.org/Networking/MPLS+VPN+Architectures/Part+2+MPLSbased+Virtual+Private+Networks/Chapter+7.+Virtual+Private+Network+VPN+Implementa
tion+Options/Overlay+and+Peer-to-peer+VPN+Model/
Two VPN implementation models have gained widespread use:
The overlay model, where the service provider provides emulated leased lines to the customer.
The service provider provides the customer with a set of emulated leased lines. These leased lines are called VCs, which can be either constantly available
{PVCs} or established on demand {SVCs}. The QoS guarantees in the overlay VPN model usually are expressed in terms of bandwidth guaranteed on a certain
VC {Committed Information Rate or CIR} and maximum bandwidth available on a certain VC {Peak Information Rate or PIR}. The committed bandwidth guarantee
usually is provided through the statistical nature of the Layer 2 service but depends on the overbooking strategy of the service provider The peer-to-peer model,
where the service provider and the customer exchange Layer 3 routing information and the provider relays the data between the customer sites on the optimum
path between the sites and without the customer's involvement. The peer-to-peer VPN model was introduced a few years ago to alleviate the drawbacks of the
overlay VPN model. In the peer-to-peer model, the Provider Edge {PE} device is a router {PE-router} that directly exchanges routing information with the CPE
router. The Managed Network service offered by many service providers, where the service provider also manages the CPE devices, is not relevant to this
discussion because it's only a repackaging of another service. The Managed Network provider concurrently assumes the role of the VPN service provider
{providing the VPN infrastructure} and part of the VPN customer role {managing the CPE device}. The peer-to-peer model provides a number of advantages over
the traditional overlay model:
Routing {from the customer's perspective} becomes exceedingly simple, as the customer router exchanges routing information with only one {or a few} PE-router,
whereas in the overlay VPN network, the number of neighbor routers can grow to a large number.
Routing between the customer sites is always optimal, as the provider routers know the customer's network topology and can thus establish optimum inter-site
routing.
Bandwidth provisioning is simpler because the customer has to specify only the inbound and outbound bandwidths for each site {Committed Access Rate [CAR]
and Committed Delivery Rate [CDR]} and not the exact site-to-site traffic profile.
The addition of a new site is simpler because the service provider provisions only an additional site and changes the configuration on the attached PE-router.
Under the overlay VPN model, the service provider must provision a whole set of VCs leading from that site to other sites of the customer VPN.
Prior to an MPLS-based VPN implementation, two implementation options existed for the peer-to-peer VPN model: The shared-router approach, where several
VPN customers share the same PE-router.
The dedicated-router approach, where each VPN customer has dedicated PE-routers.
Overlay VPN paradigm has a number of drawbacks, most significant of them being the need for the customer to establish point-to-point links or virtual circuits
between sites. The formula to calculate how many point-to-point links or virtual circuits you need in the worst case is {{n}{n-1}}/2, where n is the number of sites
you need to connect. For example, if you need to have full-mesh connectivity between 4 sites, you will need a total of 6 point-to-point links or virtual circuits. To
overcome this drawback and provide the customer with optimum data transport across the Service Provider backbone, the peer-to-peer VPN concept was
introduced where the Service Provider actively participates in the customer routing, accepting customer routes, transporting them across the Service Provider
backbone and finally propagating them to other customer sites.
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NEW QUESTION 2
Refer to the Cisco IOS XR router output exhibit,

which method is being used to transport IPv6 traffic over the service provider network?

A. 6PE
B. 6VPE
C. native IPv6
D. native IPv4
E. dual stack

Answer: B

Explanation: NOT SURE THIS MATCHES ANSWER
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NEW QUESTION 3
Which flavor of MPLS Layer 3 VPN has MPLS enabled on PE-CE links?

A. basic
B. CSC
C. inter-AS
D. AToM
E. VPLS

Answer: B

Explanation:  http://www.cisco.com/en/US/docs/ios/12_0st/12_0st14/feature/guide/csc.html

NEW QUESTION 4
In MPLS Layer 3 VPN implementations, what is used on the PE router to isolate potential overlapping routing information between different customers?

A. route targets
B. VRFs
C. VC IDs
D. pseudowire IDs
E. pseudowire classes

Answer: B

NEW QUESTION 5
Within the service provider IP/MPLS core network, what must be implemented to enable Layer 3 MPLS VPN services?

A. IS-IS or OSPF on all the PE and P routers
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B. MP-BGP between the PE routers
C. RSVP on all the PE and P routers
D. targeted LDP between the PE routers
E. LDP between the CE and PE routers

Answer: B

NEW QUESTION 6
Which statement regarding the Cisco IOS BGP configuration exhibit is correct?

A. None of the routers will receive IPv4 BGP routes.
B. Only the 172.16.2.1 and 172.16.3.1 neighbors will receive both VPNv4 routes and IPv4 BGP routes.
C. Only the 172.16.3.1 neighbor will receive both VPNv4 routes and IPv4 BGP routes.
D. All three neighbors {172.16.1.1, 172.16.2.1, and 172.16.3.1} will receive both VPNv4 routes and IPv4 BGP routes.
E. All three neighbors {172.16.1.1, 172.16.2.1, and 172.16.3.1} will receive IPv4 BGP routes.

Answer: C

NEW QUESTION 7
When implementing MPLS Layer 3 VPNs with customers running OSPF as the CE-PE routing protocol, the service provider MPLS backbone looks like what to the
CE routers?

A. the backbone {Area 0}
B. an external routing domain
C. a superbackbone that is transparent to the CE OSPF routers
D. a transit area {similar to a transit area for supporting virtual links}

Answer: C

NEW QUESTION 8
When implementing MPLS Layer 3 VPNs with customers running OSPF as the CE-PE routing protocol, which situation will require a sham link to be implemented
in the MPLS backbone?

A. to connect customer sites in different OSPF areas
B. to connect customer sites in the same OSPF area
C. to prevent OSPF routing loops when a customer site has redundant CE-PE connections
D. if there is a backdoor link between the CE routers, to ensure that the backdoor link is used only to back up the primary connection through the MPLS VPN

Answer: D

Explanation:  http://www.cisco.com/en/US/docs/ios/12_2t/12_2t8/feature/guide/ospfshmk.html

NEW QUESTION 9
On Cisco IOS and IOS XE Layer 3 MPLS VPN implementations, when redistributing the customer RIP routes into MP- BGP, the RIP metric is copied into which
BGP attribute?

A. local preference
B. weight
C. MED
D. extended community

Answer: C

Explanation:  https://supportforums.cisco.com/thread/191993
Use the red bgp <asn> metric transparent command to preserve the RIP metrics.
When RIP routes are redistributed into BGP, the route metric is stored in the BGP MED value. When BGP routes are redistributed into RIP, and the transparent
keyword used, the MED value is copied back as the RIP metric. Without the transparent keyword, the metric value specified is applied to all the routes.

NEW QUESTION 10
Which option is used as a loop prevention mechanism to support MPLS VPN customers with multihomed sites?
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A. BGP down bit
B. sham links
C. AS override
D. SOO extended BGP community
E. allow as-in

Answer: D

Explanation:  http://www.cisco.com/en/US/docs/ios/12_4t/12_4t11/htbgpsoo.html Site of Origin BGP Community Attribute
The site-of-origin {SoO} extended community is a BGP extended community attribute that is used to identify routes that have originated from a site so that the
readvertisement of that prefix back to the source site can be prevented. The SoO extended community uniquely identifies the site from which a router has learned
a route. BGP can use the SoO value associated with a route to prevent routing loops.

NEW QUESTION 10
Refer to the partial Cisco IOS XR PE router configuration exhibit for supporting a Layer 3 MPLS VPN customer using BGP as the CE-to-PE routing protocol.

The service provider AS number is 64500, the customer AS number is 64501, and the customer CE router is 10.1.1.1. What is missing in the configuration?

A. The route distinguisher has not been configured under router bgp 64500 vrf Customer_A.
B. The import and export route targets have not been configured under router bgp 64500 vrf Customer_A.
C. The 10.1.1.1 BGP neighbor has not been activated for IPv4 unicast routing.
D. The 10.1.1.1 BGP neighbor has not been activated for the VPNv4 address family.

Answer: A

Explanation:  http://www.cisco.com/en/US/docs/ios/12_2sr/12_2sra/feature/guide/srbgprid.html Route Distinguisher
A router distinguisher {RD} creates routing and forwarding tables and specifies the default route distinguisher for a VPN. The RD is added to the beginning of an
IPv4 prefix to change it into a globally unique VPN-IPv4 prefix. An RD can be composed in one of two ways: with an autonomous system number and an arbitrary
number or with an IP address and an arbitrary number. You can enter an RD in either of these formats:
•Enter a 16-bit autonomous system number, a colon, and a 32-bit number. For example: 45000:3
•Enter a 32-bit IP address, a colon, and a 16-bit number. For example: 192.168.10.15:1
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NEW QUESTION 15
Based on the Cisco IOS XR VRF configuration exhibit,
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Which two data flows between the MPLS VPNs will be allowed? {Choose two.}

A. The CustomerA central site can communicate with the CustomerB central site.
B. The CustomerA central site can communicate with all CustomerA sites.
C. The CustomerA central site can communicate with all CustomerB sites.
D. The CustomerA sites can communicate with all CustomerB sites.

Answer: AB

NEW QUESTION 18
Refer to the partial Cisco IOS XR PE router VRF configuration exhibit.

To implement a central-service VPN supporting both customer1 and customer2, what will be the required corresponding VRF configuration on the central-service-
server PE router?

A. vrf central-service-server address-family ipv4 unicast import route-target3:12:2export route-target 3:12:1!
B. vrf central-service-server address-family ipv4 unicast import route-target3:12:1export route-target 3:12:2!
C. vrf central-service-server address-family ipv4 unicast import route-target3:11:11:2export route-target 3:11:11:2!
D. vrf central-service-server address-family ipv4 unicastimport route-target 3:11:11:22:12:2export route-target 3:11:11:22:12:2!

Answer: A

NEW QUESTION 21
Which two statements about implementing a separate MPLS VPN to provide customers Internet access are correct? {Choose two.}
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A. The Internet gateway router will act as a CE router.
B. Customers will use separate interfaces for VPN and Internet access.
C. Customers are assigned to the Internet VPN.
D. Internet routes will be leaked from the PE global routing table to the customer VRF.

Answer: AC

NEW QUESTION 25
Which CE-to-PE routing protocol implements the down bit as a loop prevention mechanism?

A. RIPv2
B. EIGRP
C. IS-IS
D. OSPF
E. BGP

Answer: D

Explanation: https://www.racf.bnl.gov/Facility/TechnologyMeeting/Archive/06-30-04-CISCO/Using-OSPF-in-MPLS- VPNEnvironment.pdf

NEW QUESTION 27
When you are using OSPF as the CE-to-PE routing protocol in MPLS VPN implementations, an OSPF route from customerA site 1 in Area 0 will appear as which
kind of OSPF route in customerA site 2, also in Area 0?

A. intra-area
B. interarea
C. E1
D. E2

Answer: B

NEW QUESTION 30
In Layer 3 MPLS VPN implementations, if some of the VPNv4 routes on one PE router do not appear on another PE router, what could be the problem?

A. RD mismatch between the PE routers
B. RT export and import configuration errors
C. RD export and import configuration errors
D. VRF name mismatch between the PE routers

Answer: B

Explanation:  http://blog.initialdraft.com/archives/1537/

NEW QUESTION 34
When implementing CSC services, which two methods can be used to exchange label information between the downstream CSC customer carrier and the CSC
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backbone carrier? {Choose two.}

A. using MP-BGP
B. using RSVP
C. using IGP and LDP
D. using back-to-back VRF
E. using front VRF and internal VRF

Answer: AC

Explanation:  http://www.cisco.com/en/US/docs/net_mgmt/ip_solution_center/4.0/mpls/user/guide/9_iscqsg.html
Since the CSC-PE routers do not have to carry external routes in the VRF routing table, they can use the incoming label in the packet to forward the customer
carrier Internet traffic. Adding MPLS to the routers provides a consistent method of transporting packets from the customer carrier to the backbone carrier. MPLS
allows the exchange of an MPLS label between the CSC-PE and the CSC-CE routers for every internal customer carrier route. The routers in the customer carrier
have all the external routes either through IBGP or route redistribution to provide Internet connectivity.
When a backbone carrier and the customer carrier both provide BGP/MPLS VPN services, the method of transporting data is different from when a customer
carrier provides only ISP services. The following list highlights those differences.
•When a customer carrier provides BGP/MPLS VPN services, its external routes are VPN-IPv4 routes. When a customer carrier is an ISP, its external routes are
IP routes.
•When a customer carrier provides BGP/MPLS VPN services, every site within the customer carrier must use MPLS. When a customer carrier is an ISP, the sites
do not need to use MPLS.

NEW QUESTION 37
The Cisco IOS XR address-family ipv4 labeled-unicast and the Cisco IOS/IOS XE neighbor send-label commands are used in which MPLS implementation?

A. Cisco MPLS TE
B. CSC using MP-BGP for label exchange
C. back-to-back VRF
D. AToM
E. VPLS

Answer: B

Explanation:  http://www.cisco.com/en/US/docs/ios/12_0s/feature/guide/fscscleb.pdf
The MPLS VPN-Carrier Supporting Carrier-IPv4 BGP Label Distribution feature lets you configure your carrier- supporting-carrier network to enable Border
Gateway Protocol {BGP} to transport routes and Multiprotocol Label Switching {MPLS} labels between the backbone carrier provider edge {PE} routers and the
customer carrier customer edge {CE} routers using multiple paths. Previously, you had to use Label Distribution Protocol {LDP} to carry the labels and an Internal
Gateway Protocol {IGP} to carry the routes between PE and CE routers to achieve the same goal.
The benefits of using BGP to distribute IPv4 routes and MPLS label routes are:
• BGP takes the place of an IGP and LDP in a Virtual Private Network {VPN} forwarding/routing instance {VRF} table. You can use BGP to distribute routes and
MPLS labels. Using a single protocol instead of two simplifies the configuration and troubleshooting.
• BGP is the preferred routing protocol for connecting two Internet service providers {ISPs}, mainly because of its routing policies and ability to scale. ISPs
commonly use BGP between two providers.
This feature enables those ISPs to use BGP.

NEW QUESTION 38
When implementing Layer 3 MPLS VPNs on Cisco IOS/IOS XE PE routers, which PE-to-CE routing protocol requires a separate routing process to be created for
each VRF?

A. EIGRP
B. RIPv2
C. OSPF
D. BGP

Answer: C

NEW QUESTION 43
In Layer 3 MPLS VPN implementations, if a customer is using the same AS number at both customer sites and the PE- to-CE routing protocol is BGP, what must
be enabled on the PE router?

A. BGP AS override
B. BGP allowas-in
C. BGP SOO extended community
D. BGP AS path prepending

Answer: A

Explanation:  https://supportforums.cisco.com/docs/DOC-21837
Loop prevention in BGP is done by verifying the AS number in the AS Path. If the receiving router sees its own AS number in the AS Path of the received BGP
packet, the packet is dropped. The receiving Router assumes that the packet was originated from its own AS and has reached the same place from where it
originated initially.
The feature could be a disaster if customers are using same AS number along the various sites and disallows customer sites having identical AS numbers to be
linked by another AS number. In such a scenario, routing updates from one site will be dropped when the other site receives them.
To override this feature, AS-Override function causes to replace the AS number of originating router with the AS number of the sending BGP router. The command
is neighbor ip-address as-override and can only be executed under the VPNv4 address-family
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NEW QUESTION 47
Which three functions are performed by the PE router in an MPLS Layer 3 VPN? {Choose three.}

A. exchanges routing updates with the CE router
B. translates the CE routing information into VPNv4 routes
C. exchanges VPNv4 routes with other PE routers over MP-BGP
D. imports and exports RTs that are received from the P routers
E. exchanges RDs with the P routers
F. exchanges VPN labels with the CE routers

Answer: ABC

Explanation:  http://www.cisco.com/en/US/docs/routers/crs/software/crs_r4.1/lxvpn/configuration/guide/vc41v3.html How MPLS L3VPN Works
MPLS VPN functionality is enabled at the edge of an MPLS network. The PE router performs the following tasks:
•Exchanges routing updates with the CE router
•Translates the CE routing information into VPN version 4 {VPNv4} and VPN version 6 {VPNv6} routes
•Exchanges VPNv4 and VPNv6 routes with other PE routers through the Multiprotocol Border Gateway Protocol {MP- BGP}

NEW QUESTION 48
Which BGP extended community is used to control the distribution of VPN routing information and to identify routers that may receive a set of routes that carry the
community?

A. SOO
B. RT
C. opaque
D. route origin
E. RD

Answer: B

Explanation:  http://blog.initialdraft.com/archives/1537/
Route Target is a 64-bits BGP community used for tagging prefixes. When exporting prefixes from the VRF, we add to the prefixes a Route-Target community, so
when the PE in the remote site has to import prefixes into the VRF, it can easily identify which prefixes to import.

NEW QUESTION 50
Refer to the exhibit.

Given the output shown, which two statements are true? {Choose two.}

A. The configured remote AS for neighbor 10.1.1.1 is 1234.
B. Both prefixes that are referenced by network commands will be visible with the show bgp command from the information that is shown in the output.
C. The neighbor 10.1.1.1 cannot learn any routes from this router.
D. The router cannot learn any routes for neighbor 10.1.1.1.
E. Routes from the Internet VRF that are injected into BGP through redistribution will be advertised to neighbor 10.1.1.1.

Answer: AC

NEW QUESTION 53
What are the two AToM interworking modes? {Choose two.}
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A. bridged {interworking ethernet}
B. routed {interworking ip}
C. label-switched {interworking mpls}
D. transparent {interworking transparent}

Answer: AB

Explanation:  http://www.cisco.com/en/US/docs/ios/ios_xe/mpls/configuration/guide/mp_l2vpn_intrntwkg_xe.html
Interworking is a transforming function that is required to interconnect two heterogeneous attachment circuits {ACs}. Several types of interworking functions exist.
The function that is used would depend on the type of ACs being used, the type of data being carried, and the level of functionality required. The two main Layer 2
Virtual Private Network {L2VPN} interworking functions supported in Cisco IOS XE software are bridged and routed interworking.
Layer 2 {L2} transport over multiprotocol label switching {MPLS} and IP already exists for like-to-like ACs, such as Ethernet-to-Ethernet or Point-to-Point Protocol
{PPP}-to-PPP. L2VPN Interworking builds on this functionality by allowing disparate ACs to be connected. An interworking function facilitates the translation
between different L2 encapsulations.

NEW QUESTION 54
Which method is used to provide inter-AS AToM services?

A. back-to-back VRF
B. targeted LDP
C. pseudowire stitching
D. AToM interworking
E. Cisco MPLS TE tunnels
F. autodiscovery

Answer: C

Explanation:  http://www.cisco.com/en/US/docs/optical/cpt/r9_3/configuration/guide/cpt93_configuration_chapter_0111.html
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NEW QUESTION 57
When troubleshooting EoMPLS configuration problems, which three parameters must match between the two ends of the pseudowire configurations? {Choose
three.}

A. control word usage
B. MTU size
C. pseudowire ID
D. Xconnect group name
E. EFP subinterface number

Answer: ABC

Explanation: Provisioning an AToM Static Pseudowire
In this configuration task, you use options in the xconnect Ethernet interface configuration command to specify a static connection, and mpls commands in
xconnect mode to statically set the following pseudowire parameters:
•Set the local and remote pseudowire labels
•Enable or disable sending the MPLS control word
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Haven't been able to find where MTU Must match

NEW QUESTION 60
Which Layer 2 protocol parameters can be carried inside the control word when implementing AToM service?

A. PW ID
B. Frame Relay FECN, BECN, and DE bits
C. encapsulation type
D. VC type

Answer: B
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Explanation:  http://www.cisco.com/en/US/products/ps6603/products_qanda_item09186a008009d4e3.shtml#wp39173
Q. How does Frame Relay over MPLS work?
A. Traffic is encapsulated in MPLS packets and forwarded across the MPLS network. When encapsulating Frame Relay over MPLS, the Frame Relay header and
the frame check sequence {FCS} are stripped from the packet. The bits for Backward Explicit Congestion Notification {BECN}, Forward Explicit Congestion
Notification {FECN}, Discard Eligibility {DE} and Command/Response {C/R} are carried across the MPLS network in the "Control Word" header.

NEW QUESTION 64
Which two methods can be used for VPLS PW signaling? {Choose two.}

A. static
B. BGP
C. IGP
D. LDP
E. RSVP

Answer: BD

Explanation: 

NEW QUESTION 66
When implementing nonhierarchical VPLS with eight PE routers, how many total PWs will be required between the PE routers?

A. 8
B. 16
C. 28
D. 32
E. 64

Answer: C

Explanation:  8* {8-1} /2

NEW QUESTION 69
VPWS/EoMPLS offers which type of Ethernet services as defined by the MEF?

A. E-Tree
B. E-LAN
C. E-Line
D. E-Interworking

Answer: C

Explanation: 
• E-Line is based on a point-to-point Ethernet Virtual Connection. Two E-Line services are defined:
- Ethernet Private Line {EPL}: A very simple and basic point-to-point service characterized by low frame delay, frame delay variation, and frame loss ratio. No
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service multiplexing is allowed, and other than a committed information rate {CIR} no class of service {CoS} {Bandwidth Profiling} is allowed.
- Ethernet Virtual Private Line {EVPL}: A point-to-point service wherein service multiplexing {more than one Ethernet Virtual Connection} is allowed. The individual
Ethernet Virtual Circuits can be defined with a rich set of Bandwidth Profiles and Layer 2 Control Protocol Processing methods as defined by the Metro Ethernet
Forum.

NEW QUESTION 74
When using the Cisco EVC software infrastructure, a double-tagged frame with a customer VLAN of 10 and a service provider VLAN of 150 will be best matched
by which encapsulation configuration?

A. encapsulation dot1q 10 second-dot1q any
B. encapsulation dot1q 10 second-dot1q 150
C. encapsulation dot1q 10 second-dot1q 50-200
D. encapsulation dot1q 10
E. encapsulation dot1q 150

Answer: E

NEW QUESTION 76
When implementing H-VPLS with QinQ access on Cisco Metro Ethernet switches, which two commands enable the QinQ tagging? {Choose two.}

A. encapsulation dot1q {customer-vlan} second-tag {sp-vlan}
B. encapsulation dot1q {sp-vlan} second-tag {customer-vlan}
C. switchport mode dot1q-tunnel
D. switchport mode trunk
E. switchport access vlan {sp-vlan}
F. switchport access vlan {customer-vlan}

Answer: CE

NEW QUESTION 81
Implementing H-VPLS instead of VPLS reduces which requirement?

A. having a full mesh of PWs between all the PE routers in the service provider MPLS core
B. having a full mesh of PWs between all the UPE routers
C. having to implement QinQ tagging between the UPE and the NPE
D. having to implement MPLS LDP between the UPE and the NPE
E. the overhead of using BGP or LDP autodiscovery

Answer: A

Explanation: 

NEW QUESTION 86
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When implementing VPLS on Cisco IOS XR routers, the customer-facing subinterfaces on the PE routers are assigned to which Cisco EVC component?

A. bridge group
B. bridge domain
C. VFI
D. Layer 2 transport
E. BVI

Answer: B

Explanation: 

NEW QUESTION 88
What is an advantage of using the Cisco EVC infrastructure to implement carrier-class Ethernet services that are not available on non-EVC-capable platforms?

A. PW redundancy
B. interworking support
C. PW stitching support
D. flexible frame-matching support and VLAN tag manipulation
E. local cross-connect support

Answer: D

Explanation:  http://www.cisco.com/web/YU/events/expo_08/pdfs/Carrier_Ethernet_Marek_Moskal.pdf
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NEW QUESTION 90
When implementing a Layer 2 transport subinterface on a Cisco IOS XR router, which encapsulation option is used to match any packets that are not matched by
any other service instances?

A. default
B. untagged
C. any
D. tag

Answer: A

Explanation: 

NEW QUESTION 92
When configuring VPLS on the Cisco ASR 9000, which three configurations are required under the l2vpn configuration mode? {Choose three.}

A. bridge-group
B. bridge-domain
C. xconnect
D. vfi
E. encapsulation

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 642-889 dumps
https://www.2passeasy.com/dumps/642-889/ (126 New Questions)

Answer: ABD

Explanation: 

NEW QUESTION 96
Which option is the correct command to define an interface as Layer 2 on the Cisco ASR 9000?

A. RP/0/RSP0/CPU0:R1{config}#int gigabitEthernet 0/6/0/0 l2transport
B. RP/0/RSP0/CPU0:R1{config}#int gigabitEthernet 0/6/0/0 layer2
C. RP/0/RSP0/CPU0:R1{config}#int gigabitEthernet 0/6/0/0 switchport
D. RP/0/RSP0/CPU0:R1{config}#int gigabitEthernet 0/6/0/0 xconnect

Answer: A

Explanation: 

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy 642-889 dumps
https://www.2passeasy.com/dumps/642-889/ (126 New Questions)

NEW QUESTION 98
When implementing MPLS Layer 3 VPN services, which CE-PE routing method does not require the use of the redistribute command to enable the customer
routes to be advertised through the MPLS cloud between the customer sites?

A. EIGRP
B. OSPF
C. IS-IS
D. BGP
E. static routing
F. OSPF or IS-IS

Answer: D

NEW QUESTION 103
Refer to the partial Cisco IOS XR PE router configuration exhibit for supporting a Layer 3 MPLS VPN customer using EIGRP AS 20 as the CE-to-PE routing
protocol.

The MPLS VPN customer is having problems receiving the EIGRP routes on the different customer site CE routers.
What is wrong with this configuration that is causing the problem?

A. The router eigrp command is referencing the wrong AS number.
B. The redistribute eigrp command is missing the metric transparent option.
C. The redistribute eigrp command is referencing the wrong AS number.
D. The redistribute bgp command is missing the subnets option.
E. The redistribute eigrp command is missing the subnets option.

Answer: C

NEW QUESTION 107
In which Cisco IOS XR configuration mode is the redistribute static command applied to enable the redistribution of static VRF routes between the PE routers?
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A. RP/0/RP0/CPU0:PE{config-router}#
B. RP/0/RP0/CPU0:PE{config-bgp}#
C. RP/0/RP0/CPU0:PE{config-bgp-vrf}#
D. RP/0/RP0/CPU0:PE{config-bgp-vrf-af}#

Answer: D

Explanation:  http://www.cisco.com/en/US/docs/routers/asr9000/software/routing/configuration/guide/rcasr9kstat.html#wp1041 359

NEW QUESTION 108
When implementing VPLS on Cisco IOS XR routers, the VPLS PW neighbors can be statically defined under which configuration mode?

A. bridge group
B. bridge-domain
C. vfi
D. mpls ldp
E. l2transport

Answer: C

Explanation: 
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NEW QUESTION 109
On Cisco IOS XR platforms using the EVC infrastructure, which command is used to enable a Layer 2 VPN subinterface?

A. interface gi0/0/0/0.10 switchport access vlan 10
B. interface gi0/0/0/0.10 switchport mode tunnel dot1q-tunnel
C. interface gi0/0/0/0.10 switchport mode trunk
D. interface gi0/0/0/0.10 bridge-group 10
E. interface gi0/0/0/0.10 l2transport

Answer: E

Explanation: 
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NEW QUESTION 110
In Layer 3 MPLS VPN implementations, which protocol is used to carry the VPNv4 routes from PE to PE?

A. RSVP
B. IGP
C. MP-BGP
D. LDP

Answer: C

NEW QUESTION 113
What happens if the destination MAC address is not present in the table for the packets that are received on one of the ACs in VPLS?

A. Packets are switched only to the PW.
B. Packets are flooded only to the other local ACs.
C. Packets are flooded on all other ACs and on all PWs that are associated with the bridge domain.
D. Packets are dropped.

Answer: C

NEW QUESTION 116
DRAG DROP

Answer: 

Explanation: http://www.cisco.com/application/pdf/en/us/guest/tech/tk891/c1482/cdccont_0900aecd80162184.pdf
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NEW QUESTION 117
Refer the exhibit.
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What type of routing is used between CE7 and PE7?

A. OSPF
B. BGP
C. is-is
D. RIPv2
E. Static routing

Answer: E

Explanation: # show ip route

NEW QUESTION 120
Refer the exhibit.
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On PE7, how many multiprotocol IBGP routes are learned from PE8 and what is the next-hop IP address? {Choose two.}

A. 1
B. 2
C. 3
D. 10.8.1.1
E. 172.16.8.1
F. 192.168.108.81

Answer: BE

Explanation: Show ip bgp vpnv4 all --- i tag field is the answer

NEW QUESTION 124
Refer the exhibit.
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On PE7, which three statements are correct regarding the MPLS VPN configurations used to support the connectivity between the CE7 and CE8 sites? {Choose
three.}

A. The RD is 1:1
B. The import and export RTs are 1:1
C. Interface GiO/0/0/0 is associated to the "default" VRF
D. The network that connects PE7to CE7 is redistributed into multiprotocol IBGP
E. The multiprotocol IBGP routes learned have a BGP origin code of "i"

Answer: BCE

Explanation: # show ip route show ip vrf
show ip vrf detail

NEW QUESTION 126
Refer the exhibit.
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On PE7, what is the pseudowire ID that connects to the 10.8.1.1 neighbor?

A. 70
B. 80
C. 123
D. 0x840001
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E. 0x4000080

Answer: C

Explanation: # show vfi

NEW QUESTION 131
Refer the exhibit.
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On PE7, which encapsulation method is used on the pseudowire that connects to the 10.8.1.1 neighbor?

A. MPLS
B. L2TPv3
C. IP
D. LDP
E. Ethernet

Answer: B

Explanation: 
show xconnect all
check value is mpls or l2tp or Ethernet etc in segment field

NEW QUESTION 135
Refer the exhibit.
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On PE7, what is the PWtype on the p2p ac-pw named "testpw"?

A. MPLS
B. L2TPv3
C. PPP
D. LDP
E. Ethernet

Answer: B

Explanation:  show mpls l2transport vc testpw detail

NEW QUESTION 140
Which VPN technology allows remote sites with dynamic IP addresses to connect to a central hub?

A. static IPsec tunnels
B. site-to-site VPN
C. DMPVN
D. VRFs

Answer: C

NEW QUESTION 145
A customer wants two separated sites to be connected via a pseudo-wire. Which solution provides the simplest implementation?

A. AToM
B. Layer 3 VPN
C. VPLS
D. GETVPN

Answer: A

NEW QUESTION 147
Which three options are features of MPLS Layer 2 VPNs? {Choose three.}

A. Routing occurs on customer devices.
B. Routing occurs on service provider and customer devices.
C. Customer sites appear to be on the same LAN.
D. Customer sites appear to be on different LANs in the same routing domain.
E. A routing protocol must be configured between the CE and PE device.
F. Traffic between CE and PE is forwarded in Layer 2 format.

Answer: ACF

NEW QUESTION 150
What is the purpose of the route distinguisher in a service provider network?

A. to identify which prefixes should be imported
B. to identify customer local prefixes
C. to identify customer global prefixes
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D. to identify which prefixes should be exported from BGP

Answer: C

NEW QUESTION 155
Refer to the exhibit.

PE1 and PE2 are advertising the same subnet 10.10.10.0/24 and export route-target to PE3. Which PE advertised subnet is installed at the PE3 BGP table?

A. PE1 subnet only, due to higher BGP assigned weight.
B. PE2 subnet only because it is a member in the same VRF.
C. PE1 and PE2 subnets
D. PE1 and PE2 subnets as 300:300:10.10.10.0/24

Answer: C

NEW QUESTION 156
Refer to the exhibit.

A customer wants to deploy an IPv6 VPN network over the MPLS provider. Which option describes what must be enabled on the MPLS provider to support this
request?

A. IPv6 should be deployed inside the core network of the provider.
B. LDP also should be configured to provide labels for IPv6 routes.
C. MP-iBGP VPNv6 session should be configured with current IPv4 addresses.
D. MP-iBGP IPv6 session should be configured with current IPv4 addresses.

Answer: C

NEW QUESTION 159
A Cisco IOS XR device is acting as a PE. It must have an iBGP VPNv4 session with the other PE 2.2.2.2 using source loopback 0. Which configuration achieves
this goal?
A}

B}

C}

D}
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A. Exhibit A
B. Exhibit B
C. Exhibit C
D. Exhibit D

Answer: B

NEW QUESTION 160
A customer is connecting to a Cisco IOS XR PE device via BGP. The peering session is up and the customer is advertising routes, but the provider is not receiving
any. Which issue is the most likely cause?

A. The IOS XR device drops inbound routing updates on eBGP peers without an inbound route-policy.
B. The IOS XR device requires as-override on all eBGP customer peers.
C. The IOS XR device requires labeled-unicast peering sessions to eBGP customers.
D. The IOS XR device drops inbound routing updates on eBGP peers that do not send extended communities.

Answer: A

NEW QUESTION 163
Refer to the exhibit.

XR2 must be configured with a static route for 2.2.2.0/24 subnet toward CE2 into the VRF ABC table. Which configuration achieves this goal?

A. router static vrf ABC2.2.2.0/24 10.10.24.2
B. router static vrf ABC2.2.2.0/24 10.10.24.2address-family ipv4 unicast
C. router static vrf ABCaddress-family ipv4 unicast 2.2.2.0/24 10.10.24.2
D. router staticaddress-family ipv4 unicast vrf ABC2.2.2.0/24 10.10.24.2

Answer: C

NEW QUESTION 166
A Cisco IOS XR router is acting as a PE and is running EIGRP as the CE-PE routing protocol. SOO must be configured. Under which subconfiguration mode
should SOO be configured?

A. RP/0/0/CPU0:XR1{config-eigrp}
B. RP/0/0/CPU0:XR1{config-eigrp-vrf-af-if}
C. RP/0/0/CPU0:XR1{config-eigrp-vrf}
D. RP/0/0/CPU0:XR1{config-eigrp-vrf-af}

Answer: B

NEW QUESTION 167
Refer to the exhibit.
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XR2 must be configured with OSPF sham-link to PE1. Which configuration achieves this goal?

A. router ospf 100 area 0sham-link 11.11.11.11 33.33.33.33
B. router ospf 100vrf ABC area 0sham-link 33.33.33.33 11.11.11.11
C. router ospf 100area 0 sham-link 33.33.33.33 11.11.11.11
D. router ospf 100 vrf ABCarea 0 sham-link 11.11.11.11 33.33.33.33

Answer: B

NEW QUESTION 169
Refer to the exhibit.

PE1 and PE2 are advertising the same subnet 10.10.10.0/24 to PE3. Which PE advertised subnet is installed at the PE3 XYZ BGP table?

A. PE2 subnet because it has the same RD value as PE3
B. PE2 subnet because it has the same export RT value as export RT on PE3
C. PE1 subnet because it has the same RD value as PE3
D. PE1 subnet because it has the same export RT value as import RT on PE3

Answer: D

NEW QUESTION 172
Refer to the exhibit.
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Which two descriptions outline the traffic flow among the three sites? {Choose two.}

A. The MNL site communicates with the XYZ and ABC sites.
B. The XYZ and ABC sites communicate using the default route that points to the MNL site.
C. XYZ sees the MNL and ABC routes.
D. ABC sees the MNL and XYZ routes.
E. The MNL site acts as a central site for the ABC and XYZ sites.

Answer: AE

NEW QUESTION 173
A PE configured with VRF ABC needs to export only subnet 1.1.1.1/32 with RT 100:100 without losing its original RT 200:200 to a remote PE. Which configuration
is correct?
A}

B}

C}

D}

A. Exhibit A
B. Exhibit B
C. Exhibit C
D. Exhibit D

Answer: C

NEW QUESTION 176
Which three possible misconfigurations can occur on the backbone IGP section of an MPLS Layer 3 VPN setup? {Choose three.}

A. configuring the LDP router ID with an incorrect loopback interface
B. configuring the wrong AS number on a client eBGP peering
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C. configuring the wrong area number on a PE-CE OSPF link
D. decreasing the MPLS MTU
E. disabling MPLS on a core link
F. disabling MPLS LDP sync in the IGP routing process

Answer: ADE

NEW QUESTION 181
Which organization provides and promotes a standards-based description of service provider services offering?

A. MEF
B. IETF
C. IEEE
D. ITU

Answer: A

NEW QUESTION 184
Which option is the minimal configuration required inside the L2VPN section of a Cisco IOS XR PE router to activate VPLS functionality?

A. l2vpnbridge group test bridge-domain testinterface TenGigE0/0/0/1.30!vfi testvpn-id 600 autodiscovery bgp rd 10.10.10.1:30route-target 1:300 signaling-protocol
bgp ve-id 10
B. l2vpnbridge group test bridge-domain testinterface TenGigE0/0/0/1.30!vfi testneighbor 10.10.10.2 pw-id 1400mpls static label local 1400 remote 1500
C. l2vpnbridge group test bridge-domain testinterface TenGigE0/0/0/1.30!vfi testneighbor 10.10.10.2 pw-id 1400
D. l2vpnbridge group test bridge-domain testinterface TenGigE0/0/0/1.30!vfi testvpn-id 600 autodiscovery bgp rd 10.10.10.1:30route-target 1:300 signaling-
protocol bgp
E. l2vpnbridge group test bridge-domain test vfi test autodiscovery bgp rd 10.10.10.1:30route-target 1:300 signaling-protocol bgp ve-id 10

Answer: C

NEW QUESTION 186
An engineer is configuring VPLS BGP-based autodiscovery on a Cisco IOS XE PE router. Which two configurations must be included for proper implementation?
{Choose two.}

A. router bgp 61000neighbor 172.16.10.2 remote-as 61000
B. router bgp 61000address-family l2vpn vpls send-community extended
C. router bgp 61000neighbor 172.16.10.2 remote-as 62000
D. router bgp 61000address-family l2vpn vpls send-community-eBGP
E. l2vpn vfi context vpls1 autodiscovery bgp signaling ldp router bgp 61000neighbor 172.16.10.2 remote-as 62000
F. l2vpn vfi context vpls1 autodiscovery bgp signaling ldp router bgp 61000neighbor 172.16.10.2 remote-as 61000

Answer: AB

NEW QUESTION 189
Which option describes what differentiates a U-PE from N-PE?

A. U-PE has all BGP routes from different BGP AFIs.
B. N-PE has VRF configured and exported via BGP.
C. U-PE is configured to peer BGP with all other BGP neighbors.
D. N-PE is used to physically connect customer edge routers.

Answer: A

NEW QUESTION 192
Which technology does an N-PE most likely use to pass traffic to the U-PE that is destined for the access switch?

A. pseudowire
B. MPLS TE
C. OSPF
D. IS-IS

Answer: A

NEW QUESTION 195
A service provider wants to scale MAC address advertisements in its next generation E-LAN and E-TREE designs. Which technology can be used in the service
provider cloud to reach this goal?

A. PBB EVPN
B. VPLS
C. 802.1Q
D. 802.3ad

Answer: A

NEW QUESTION 200
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When using H-VPLS, the PE router may use an IRB interface. How many VLAN tags can be processed by an IRB?

A. 1
B. 2
C. 3

Answer: A

NEW QUESTION 204
Which two protocols can be used for VPLS signaling on a Cisco IOS XR router? {Choose two.}

A. BGP
B. LDP
C. TDP
D. RSVP
E. PBB

Answer: AB

NEW QUESTION 208
Which two MPLS QoS models described by RFC3270 are used for CE-PE QoS implementation? {Choose two.}

A. best effort
B. pipe
C. uniform
D. integrated services
E. differentiated services

Answer: BC

NEW QUESTION 211
A company recently completed a third company acquisition and is requesting to deploy a point-to-point VPN technology over the IP core network to extend their
IGP domain. The company core network is not MPLS-enabled yet. Which technology matches these requirements?

A. Any Transport over MPLS
B. Layer 2 Tunneling Protocol version 3
C. Virtual Private LAN Service
D. Point-to-Point Protocol

Answer: B

NEW QUESTION 213
An engineer is deploying L2VPN service between two different Layer 2 encapsulations. Which feature should be set up to accomplish this task?

A. interworking VLAN on both the provider edge routers
B. interworking Ethernet on both the provider edge routers with VLAN tagging
C. interworking IPv4 on both the customer edge routers
D. interworking IPv4 on both the provider edge routers

Answer: D

NEW QUESTION 218
Which Layer 2 encapsulations can AToM solution support with interworking IP feature enable?

A. Ethernet to ATM AAL5
B. ATM AAL5 to Frame Relay
C. PPP to Frame Relay
D. multipoint PPP to Frame Relay

Answer: A

NEW QUESTION 220
A service provider is tasked to write up a template for the network operations center to set up a Layer 2 VPN. Which command is the first command to issue on a
Cisco IOS XR router?

A. xconnect peer_ip vc_id encapsulation encapsulation_type
B. connect name_pw interface_path_id dlci_value l2transport
C. l2vpn
D. pseudowire-class class_name

Answer: C

NEW QUESTION 225
Refer to the exhibit.
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PE1 and PE2 are advertising the same subnet 196.168.10.0/24 to PE3. Which PE advertised subnet is installed at PE3 BGP table?

A. PE2 subnet only due to the same RD value with PE1
B. PE2 subnet only due to the same RD value with PE3
C. Both PE1 and PE2 subnets due to exported subnet with RT matches import RT on PE3
D. PE1 subnet only due to exported subnet with RT matches import RT on PE3

Answer: D

NEW QUESTION 230
A customer needs Internet and MPLS services from the service provider and needs to ensure traffic from the Internet network does not constrain MPLS traffic.
Which shared MPLS/Internet service type best accommodates this requirement?

A. partial separation
B. full separation
C. Multisite Internet Access
D. Internet tunnel over MPLS

Answer: B

NEW QUESTION 232
A customer requests Internet through its MPLS provider. Which Internet design model guarantees maximum security and easier provisioning?

A. Internet access through global routing
B. Internet access through route leaking
C. Internet access through a separate VPN service
D. Internet access through multisite

Answer: C

NEW QUESTION 234
Which option is the primary purpose of central service MPLS VPNs?

A. provide customer access to provider resources while ensuring customers cannot communicate directly
B. provide the provider access to customer resources while ensuring customers cannot communicate directly
C. provide other service providers access to provider resources
D. provide other service providers access to customer resources

Answer: A

NEW QUESTION 236
A network engineer is troubleshooting an MPLS Layer 3 VPN and discovers that routes are being learned by CE routers, but there is no IP connectivity. Which
option is the most likely cause?

A. The provider does not have an end-to-end label switch path.
B. The customer does not have an end-to-end label switch path.
C. The customer is not sharing labels with the provider.
D. The provider is not sharing labels with the customer.
E. The providers PE to CE routing protocol is misconfigured.
F. The customers PE to CE routing protocol is misconfigured.

Answer: A

NEW QUESTION 241
Which option is a valid Cisco IOS XR BGP Layer 3 IPv4 MPLS VPN configuration?

A. router bgp 65001no bgp default ipv4-unicast bgp log-neighbor-changesneighbor 1.2.3.4 remote-as 65001 neighbor 1.2.3.4 update-source Loopback0 address-
family vpnv4neighbor 1.2.3.4 activateneighbor 1.2.3.4 send-community extended exit-address-familyaddress-family ipv4 vrf VPN redistribute ospf 100
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B. router bgp 65001no bgp default ipv4-unicast bgp log-neighbor-changesneighbor 1.2.3.4 remote-as 65001 neighbor 1.2.3.4 update-source Loopback0 address-
family vpnv4neighbor 1.2.3.4 activate exit-address-familyaddress-family ipv4 vrf VPN redistribute ospf 100
C. router bgp 100address-family vpnv4 unicast neighbor 2.2.2.2remote-as 100update-source Loopback0 address-family vpnv4 unicast!vrf VPN_A rd 100:1address-
family ipv4 unicast redistribute ospf 100
D. router bgp 100address-family vpnv4 unicast neighbor 2.2.2.2remote-as 100update-source Loopback0 address-family ipv4 unicast!vrf VPN_A rd 100:1address-
family ipv4 unicast redistribute ospf 100

Answer: C

NEW QUESTION 243
......
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